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ECONOMICS

( Honours )

Paper : ECO-HC-5026
( Development Economics—I )

Full Marks : 80°
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten of the following as directed :
1x10=10
were RaaEd i Gical webR M PR Teg w4 -

(a) What is meant by below poverty line?

o wfwrer @4 & gam 2

(b) Define democracy.
sieroEq ee fra |

(c) Define the term ‘per capita income’.

“Geefs o e fa o
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(d)

(e)

(g)

()

(i

0)

(k)
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What is meant by income inequality?

RESASECE Dt O

Define incremental capital-output ratio
in the context of Harrod-Domar model.

RIS W s e Joree-Teol
SeARed Sigea i |

What is the golden rule in Solow model?

5T HIfES Cnist RS f 2

Write one characteristic of the poor.

wiSEd BT CafiRy fopey |

What is meant by technical progress?

m%miﬁmﬁsw?

Define naturaj growth rate.
TR R 2 @ foy |

What ig social institution?

IR ST s oy «

—




(3)

() What is meant by absolute poverty?

s wfagel e 3w 2

(m) Whatis meant by endogenous growth?

e e e & 3@ e

Define a political institution.

ﬂWﬁﬁWﬂa@ﬁW

n)

Mention a measure of growth to study

international variation.

ﬁmwsa@ﬂwﬁa@mmwwﬁ
Lﬂﬁf{%@'{ﬁﬂﬂl

ant by vicious circle of

()

(v) What is me€
poverty?

ik S

What is the HDI rank of India in UNDP
Human Development Report, 2021-227?

SRR CERCHED] oifoeawe, 2021223 IO

(@

UND
sEed dME T T pe (HDI)I ¥W
e ?
(r) What is steady state in Solow model?
5o e e Sl =2
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(4)

2. Answer any five questions very briefly : 2x5=10
R e <Aiobt e &S 5y Taq o

(a) What is meant by knife-edge
equilibrium?

P-4RR ST et 6 e 2

(b) Define Gini coefficient.
ot ST=or w1t fam |

(c) Mention two differences between growth
and development.

et ie Serer T T A9 Sy < |

(d) Give two reasons of relative poverty.

AR ARG o1 PR ford |

(e) Mention two non-economic factors
which determine economic ‘develop-

ment.
T WSS RS Smy w A
FYCoT S e[ w7 |

() Write two features of modern economic
growth.
e Seftfes Reprm o1 3 e |
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(5)

(g) Mention two differences between Harrod
and Domar model of growth.

2T YT ©ET [T Wiky qeR
SCETy 41 1 T

Write two assumptions of Solow’s model

(h)
of long-run growth.
557 AR [T SIZ 701 SiSgRer fayey |
() Give two examples of government
failure.
1A fFererd o1 SHrRe i |
() What is meant by disinvestment?

AR o & @

Answer any four of the following questions -

3.
5x4=20

(@) Discuss any three problems of
measuring economic development.
st TaEd T /@ o sy
RlciIESIN

(b) Briefly discuss the factors which
influence economic development of an

underdeveloped country.
93 A (P S S e
1 SAMEPTR G ST 3]
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(6)

(c) Write a note on inequality axioms.

PR FIFRA @9 BT Gt e |

(d) Justify per capita income as an index of
economic development.

AT ST P RO W s el

(¢) Discuss the concept of economic
inequality.

WWWWWWWI

() Discuss the need for balanced regijonal
development in case of underdeveloped
countries.

T TGI (FAS W A S
ST 1] 354 |

(9) Write a short note on rural-urban
€conomic gap.
A AF 52 AT Fe eoRw bl 5y
BT fora |

(h) Explain how democracy and economic
growth are interlinked.

1ToF WAF WA fwp fmge BRI,
10 3#47 |
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(7)

4. Answer any four of the following questions :
10x4=40

o 2T & e it Ted fa

(a) Explain the various  alternative
measures of economic development.

St Seee S s TopmR < 41 |

(b) Discuss the international variations in
per capita income (PCI) and human
development index (HDI) measures.

TR W W TR S PR Ao S
BB 2CS7 AT FA1 |

(c) Compare development trajectories
across nations and within them.

TG TGO WF 59 [$o7% T o
werel 41 1
Explain the construction of the Human

Development Index.

e S I Ao T

(@)

Discuss the conditions of steady growth
in the context of Solow model.

G’Wﬂﬁaﬁﬂﬂﬁﬁﬁﬂﬁ@ﬁ?ﬂ“ﬁw
w[rgeo-r 41 |

endogeneous growth theory.

(e)

() Explain
Srereal R o T 9
( Turn Over )
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(8)

fg) Discuss the main features of
Harrod-Domar model of growth.

RIC-TA PR WEOR T &Rz
SICAGA < |

(h) Explain the technique of Lorenz curve to
measure inequality.
TSl AR T T2 @G @A[ e
ISR

() Explain the role of State institutions in
'~ economic development.

PR SFRIPHR (PR ST e i
STHCR ST I |

(j) Discuss, in detail, the consequences of
corruption in the economy.

9 gfoe wAfe  cRTRR  Reweia
[ A

* & K
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